FRACTIONAL POL

xb 8500 MHz BRDO B0318+165 4—-MAR—-2012

0.05

0.00

—0.05F
i X—Y |
- 2YX 1
010k | | |
) ~50 0 50 7

POSITION ANGLE, DEG

DELTAG = —0.004 +/— 0.043

PSI = —168.0 +/— 515

ALPHA = 548 +/— 86

EPSILON = 0.010 +/— 0.011

PHI = —160.3 +/— 79.3

QSRC = 0.002 +/- 0.063

USRC = —0.072 +/— 0.015

POLSRC = +0.072 +/— 0.016

PASRC (+*UNCORRECTED FOR M_ASTRO**) = —44.29 +/— 6.17
NR GOOD POINTS= 104 96 103/ 104

SCAN 206401280

MUELLER MATRIX:

1.0000 0.0072 —-0.0194 0.0004
—0.0021 -0.3367 0.0000 0.9416
0.0176 —0.1962 —0.97/80 —0.0702

0.0109 0.9209 —-0.2084 0.5295



FRACTIONAL POL

xb 8800 MHz BRD1 B0318+165 4—-MAR—-2012

0.05— —]

0.00

—0.05

—-50 0 50
POSITION ANGLE, DEG

DELTAG = —0.088 +/— 0.053

PSI = —-282 +/- 58.7
ALPHA = —=32.0 +/— 12.9
EPSILON = 0.002 +/— 0.013
PHI = 6.7 +/— 466.0

QSRC = 0.006 +/— 0.058

USRC = 0.059 +/— 0.020

POLSRC = +0.060 +/— 0.021

PASRC (+x*UNCORRECTED FOR M_ASTRO#*) = +42.05 +/— 9.86
NR GOOD POINTS= 102 97 101/ 104

SCAN 206401280

MUELLER MATRIX:

1.0000 —0.0189 0.0033 0.0395
—0.0438 0.4594 —0.0001 —0.8983
0.0031 0.4240 0.8816 0.2074

—0.0012 0.7919 —0.4720 0.5873



FRACTIONAL POL

xb 9000 MHz BRD2 B0318+165 4—-MAR—-2012

0.05— -

0.00

-0.05

—-50 0 50
POSITION ANGLE, DEG

DELTAG = —0.093 +/— 0.065

PSI = —15.1 +/— 108.8
ALPHA = =352 +/— 18.2
EPSILON = 0.003 +/— 0.016
PHI = —108.3 +/— 339.9

QSRC = 0.000 +/— 0.095

USRC = 0.052 +/— 0.023

POLSRC = +0.052 +/— 0.023

PASRC (¥*UNCORRECTED FOR M_ASTRO*x) = +44.95 +/— 12.86
NR GOOD POINTS= 99 95 100/ 104

SCAN 206401280

MUELLER MATRIX:

1.0000 —0.0208 —0.0018 0.0421
—0.0466 0.3347 0.0001 —-0.9425
—0.0032 0.2448 0.9657 0.0869

—0.0049 0.9100 —0.2598 0.5230



FRACTIONAL POL

xb 9200 MHz BRD& B0318+165 4—-MAR—-2012

0.05— -

0.00

—0.05

—-50 0 50
POSITION ANGLE, DEG

DELTAG = -0.076 +/— 0.079

PSI = 1718 +/— 116.7

ALPHA = -56.8 +/— 22.2

EPSILON = 0.006 +/— 0.020

PHI = —462 +/— 2329

QSRC = 0.007 +/— 0.099

USRC = —0.050 +/— 0.031

POLSRC = +0.051 +/— 0.033

PASRC (+xUNCORRECTED FOR M_ASTRO#*) = —41.08 +/— 18.78
NR GOOD POINTS= 101 100 101/ 104

SCAN 206401280

MUELLER MATRIX:

1.0000 0.007/9 0.0077 0.0383
—-0.0382 —-0.3986 —0.0003 -0.9171
—0.0065 —0.1308 —0.9898 0.0569

0.0091 —0.907/6 0.1426 0.5948



